4L 1 021
B2 B seid X Foyed BRI U7 104 &R ELR
BYTE o TWEE/PATR AR EF ~ BAIRE AR R /B4 TR BT R L

BESP B
i;ﬁﬂ 7% PR
FUERA 10 TR IS
5 2 B
AR —fRELL S 45
1. FRENEq E A
2. EARGEHEERm
S AR R
4. ZGE s
5. ACERMERS BB
fles 1204 0 & RELE 44
(1) KCIsRITHEE A EEFERE § 36,300 » SR HABE XL 4 5 EFTAER > Al
4% > FHERELT IR o FEEPTEIATF(PIVFA(4% ,4 1H)=3.63), iE4m7e51 4 fid:
5 TEHASZ A, FE, AR BB, SR M AR
(2) BERCIERAMESE 3 FIRMEBEATA G B 3 FFK » HFEZAED TR
177°
Al 120 4 0 (DITA ~(2)3 4
I A A T BT R U - B A BT A TR
Wi HEENIEERE 10% -
F A B
0 ~2000 -3000
3 1 1500 1000
2 1500 2000
3 1500 3000

AT MY -
1). 5 A B MARRAFHE, KEWSHEARIERZ B E G % ?

F1H H2H




5

P

(2) # A, BRIJTTERHFITE, fik NPV AR EZSEFRIME T2 2

(3) X1 A FFZEZNEEREAR Ry 54.77% > B 722 NEEER s 36.19% - 35
A, B W HZERLOFHZE, i IRRIARIEZSEZHHE HZE 2

(4) 5 A BWTERLITHE, MR PUARIEZEREIE T2 ?

(5)1F NPV B IRR J57ALLHHT - 55 AL 5 A8 (B 2 LB R el 2

e 2204 0 & AR AR

Bk = @ A F - E R 2R fs F AR B L (pay-out ratio=100%), @ BiF F
>k, K BAREY S k=13%, 4 & 7 12 pk EPS=$5,
(1) tpay-out ratio=100%pF, FF A 2 P& @ F 5 59

F.

(2) FLURARZZROTEFE T L fRE ﬁéﬁ‘fa”?’sﬁf‘i‘%ﬂk i, BET 40%%
i A £ (BT 242 plow-back ratio=40%), Bk o & Bk = duE iR,
o FenE F A4FR S (ROE) adr 13%, » fofs F 45 & ?{K? AR =N S N |
4 A2 P RAESehe & Zapd £ ST §?
(3) 2 PRMGEZ R KA L HR LG A 2R PAERT 27§ R
ARG R ? R B o
(4) ¥y 4, ERB2PNELY B R FEB R4 R Flrc K & EdF e
FFEFE?
ﬁja/w\ D204 0 AP KA 5 A
5 T E AT 5 e R e AR R A 4% > TG & A & 0y THEARINR R4
12% - FFRIBEEARNE E E [EEA(CAPM)[OIE DL M- -
(1)FE ANEIREZER B1E By 1.5 » HIWRIEZ BoK 2/ DA 2
(2% B AEINEZEHATHY S8 A 0.8 (HLLHEIMERNN S » THEAAR K &S 9.8%
5 | BYERBHE  5FaHE B A FIREE G R —EF I RE IR 7

(3) & C N\ EIHEEEIY N EEI 2 By 10% > H ELE13% 2\ 510y TARARS FIpk B2 AR
4% > EHARSA By $3 0 FEfdiat C A BB ZE A B SR {E RS -
(4):51 beta( B)HYEF Bl ? 35 =2 » HEF Bfal ?

fies 1204 0 & BEL 5 A

F2H H2H




